UNIT - XIV
(Bio molecules)

The monomeric units of starch is
C C C

CTE Pl Udhold SPTS 2 |
a) Glucose ‘QEB N
b) Fructose BTl
c) Mannose HHTST

d) Glucose and fructose Te[d [l QTZT BHdcul
Starch is an example of
T Udh S&TevY B |

a) MOI’IOS&CChaI’idCIﬁ:ﬁ@m

b) Disaccharide @W—CWI?;@'

c) Polysaccharide qﬂ%ﬂﬁm

d) Oligosaccharide anferm WIE@'

Which of the following codon is the termination codon.

fr=fRad & o @ Bred XPHYH e 2 |

a) UAU
b) UAG
c) AGU
d) AUG
Which of the following is not present in RNA.

a) Uralic ﬂglﬁlﬂ
b) AdenineQ@ﬁH
¢) Thyamine SIDIEE]
d) Guacine ‘:Flﬁ:f

Which of the following is an example of Zwitter ion ?

feifea & 9 o9 SYfawe ST & SSTEN § |
a) Urea ?Iﬁ?ﬂ

b) Glycine hydrochloride eIl R ESIEEINESS]

¢) Ammonium acetate I IH Q?}Iéa
d) Alanine U=+

Vitamin A is Called
fae1fi v wgardr 2|
a) Ascorbic acidQﬂ?ﬁ?ﬁfﬁ Qﬁ:l_\“o'
b) Retinol YfeATol
c) Calciferol AL
d) Tocopherol SIPTHRI

Which carbohydrate is an essential constituent of plant cells ?
B I BEIESSC UCT HIFRGRIT & fov awdd |
a) Starch?%'lﬁ
b) Cellulose HedatTol
¢) Sucrose ﬁ?ﬁ\_ﬂ
d) Vitamin ICEIGE]

During the process of digestion, the proteins present in food material are
hydrolysed to amino acids.

geE fhar & 9T ¥IoF I H SuRerd Uifed g ergufed
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BT THIAT 31T T 2 |

The two enzymes involved in the process are

enzymes enzymes
Proteins —_ polypeptide ————>» Amino acids
A B

a) Invertase and Zymase §-THYC VI QE[ SITIH G
b) Amylase and Maltose THTgelol Ud Hleclol
¢) Nucleases and Lipase re;ur&mw QTZT NIEEN
d) Pepsin and Tripsin quRe ] l?{l%\r-lq
RNA and DNA are chiral moleenles. Their chirality is due to
a) Chiral bases IERGRCR]
b) Chiral phosphate ester units iR ®idhe $<C< Sdols
¢) D-Sugar component <0 KSRIAS HHMC
d) L- Sugar Component Ucl0 ¥R HHMC
a-D(+) glucose and B -D (+) glucose are
a-D(+) TDIST T B -D (+) Te[DIS

a) Enantiomers

b) Conformers CaREAEEs]
c¢) Epimers E‘I%PR‘LI
d) Anomers U 7

Instruction : write in one word or one sentence.
Name the isomer of glucose ?
TIDS & FHARE BT A ford |
Name the bond which joins the molecule of monosaccharide.
I 3G9 BT A ol S AFFIRISS & 37 Bl Sk T & |
Name the polymers of nucleotides.
& SIAb] BT A ford |
What are the different types of RNA found in the cell.

PIRMBT H UR SiHarel [T bR & 3ROTH0T0 &1 M
g |

Name the bond which binds/joins the two nucleotide unit to each other.
Write two sources of Vitamin C.

faerfia <o & <1 &=l &I ford |

Name a test which is used for testing the presence of proteins.
aIeH &1 IRfY & S 5 yeR B 2|
Deficiency of Vitamin B, causes which disease.

e B, @1 &H1 9§ D19 A1 fT9RT 8l 2 |

What is the use of enzyme streptokinase in medicines.

gar # R [DIgAN SOIgH DT T ST 2 |

Short Ans. type Questions :
Why are carbohydrates generally optically active ?

JHITIT haEsss Yhreid fharefia gar & «ar ?

What are essential and non essential amino acids ? Give examples of each.
How will you convent glucose into fructose ?

@IS Bl Faerl H HH gl |

Name the type of linkages responsible for the formation of primary and
secondary structure of proteins.

Y & YoH iR fgdig WReqr 999 & o9 9 499 SieTaeg
27 A IR |
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What are reducing and non-reducing sugars ?

Explain why Vit. C cannot be stored in body.

et Mo TRR H |UE 780 8ar § &l ? qui & |

What is glycogen ? How it is different from starch ?

TATSHIG T BT & a7 A rd A 6 gaR =1 2|

Write two major functions of Carbohydrates.

PIEBIgRC @ Gl g8g B o |

Define enzymes. With example

SOISH &1 URYNT SETERUT & 1T ¢ |

What is invert sugar ?

STTARY THRT T % |

What is glycosidic linkage ? Give the equation for formation of glycosidic
linkage

TATSHIATSS] 98 I FAT FAI € | TASDIRISS] 98 Bl g1 D
fory rarafe FHiaRor < |

Define mutation with example.

RICI DI FEERVT & 1Rl YRATNT B |

Answer Briefly
The two strands to DNA are not identical but are complementary. Explain.

07000 B fRogd fEqpsfert w99 781 B @ g U
AN BT YRS BIAT & | T PN |

Write differences between DNA and RNA

SI0U0T0 TG 3MRoUA0V0 H fawe forRReaw |

Write differences between Reducing and non-reducing sugars.

What is the structural difference between nucleoside and Nucleotide.

What is the biological function of Nucleic acid in living organism
Td SfFeraieiss & ARET § R®T SR 2 |

Explain amphoteric behaviour of amino acids.

THFT Srvetl 1 SwaeHt Uapfar &l e |

On electrolysis in acidic solution, 0 —amino acids migrate towards cathode
while in alkaline medium they migrate towards anode. Explain.

ASHT YA el & 3T °iet H fIggd YdIg &R R 37ehT
Tl TS delie @1 IR ST 2| 9 &R 9 H fagyd
JqTE HR- TR 31T THIAT 37Fe] TS &l TR SITelT & |

Long Answer type
Glucose and sucrose are soluble in water but lyclohexane and benzene are
insoluble in water. Explain.

TShISl Ud ghiol ofd H fdeld § uRe] AIsdaieddd Ud doi
STl | Afdeld & wHs |

Classify proteins on basis of its structure. Explain elaborately secondary
structure of protein.

AT b SR N WIS BT i ihIoT P |
What is DNA ? Explain structure of DNA.
SI0TA0T0 RIT & ? SI0UF0T0 &1 AXTAT BT goid v |




